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Reason for change:

In some formulas, Ts is used instead of T fo denote the symbol period.




Summary of change:

Ts is replaced by T.
The definition of T is moved to the first place where it appears.
The style for some equations is corrected to EQ.




Consequences if 

not approved:
Some modulation formulas are undefined.




Clauses affected:

3.1, 3.2, 3.4, 3.5, 3.6.
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Other comments:



3.1
Modulating symbol rate

The modulating symbol rate is 1/T = 1 625/6 ksymb/s (i.e. approximately 270.833 ksymb/s), which corresponds to 3*1 625/6 kbit/s (i.e. 812.5 kbit/s). T is the symbol period. 

***   Next modified section   ***

3.2
Symbol mapping

The modulating bits are Gray mapped in groups of three to 8PSK symbols by the rule
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where l is given by table 1.

Table 1: Mapping between modulating bits and the 8PSK symbol parameter l
Modulating bits
d3i, d3i+1, d3i+2
Symbol parameter l

(1,1,1)
0

(0,1,1)
1

(0,1,0)
2

(0,0,0)
3

(0,0,1)
4

(1,0,1)
5

(1,0,0)
6

(1,1,0)
7

This is illustrated in figure 2.
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Figure 2: Symbol mapping of modulating bits into 8PSK symbols


***   Next modified section   ***

3.4
Symbol rotation

The 8PSK symbols are continuously rotated with 3/8 radians per symbol before pulse shaping. The rotated symbols are defined as
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***   Next modified section   ***

3.5
Pulse shaping

The modulating 8PSK symbols 
[image: image4.wmf]i
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 as represented by Dirac pulses excite a linear pulse shaping filter. This filter is a linearized GMSK pulse, i.e. the main component in a Laurant decomposition of the GMSK modulation. The impulse response is defined by:
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where
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and
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The base band signal is
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The time reference t' = 0 is the start of the active part of the burst as shown in figure 3. This is also the start of the bit period of bit number 0 (the first tail bit) as defined in GSM 05.02 [3].


***   Next modified section   ***

3.6
Modulation

The modulated RF carrier during the useful part of the burst is therefore:
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where Es is the energy per modulating symbol, f0 is the centre frequency and (0 is a random phase and is constant during one burst.
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